[ Efficiency vs vertpos |

~ 0.2
o

o012
0.1
0.08F
0.06f
0.04f
0.025 R

IR
¢ F :
016 [EEREEEE
Q o .

T 0.14F e e
o

+Of
L2 ofe g

Ratio

G SRR R

15?---&--0—1»---'

1072 107

L CRE:

DOM—m
Efficien 3§ -mEEI
iciend BOMTmkE

0

o

I
=
|

efficiency vs vert z

SRS S

Y S R

oot
P ORI 1 U S S W S
0t

I SO B

Ratio

T
:
-
:

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.2

> i
G028 e

S

effic

0.02

5016 e
L e S
P A S A
R S A ity
O e R
0.08F bt d L
0.06F 4o f b o
0.04F -+ {414

10

Ratio

1.

B

i

|
=
o

8 6 4 2 0 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


